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0,000& * 2% » 12& 720
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01 AL ESFHSHI 7,750 0 7,750
OQlAelg oX U (1)
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A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
SEEREEEPIEERET Y
700,000& = 13l 700
02 =224l 109,840 11,995
03323 2 HA 37,532
NI 2 sERs
3,150,000& = 128 * 80% 30,240
-&g 2 FAXRZ 70,0003 = 12& = 80% 672
-DSHSS ¥ BRS 23
400,000& = 12& 4,800
-SeEgSs AER 50,000& = 12& 600
-OIHY AEZE 60,000& = 123 720
-H3E 22 FHE 250,000 * 202 500
ode Azl
12,0003 = 8AIZt = 1052 = 80% 8,064
OAIZ2 ZHl |Xl2cltl 29,940
-HM&&d |sX2el 4,200
- ESHERF 200,000& = 180K 3,600
- EdH AR 600,000& =« 1CH 600
-0l FIl |X2e 100,000& * 5CH = 80% 400
-A 2K XHl(1,458m") 2,000,000& 2,000
-HAsZ2E |2l
70,0003 = 284 * 43 7,840
-SEHNSIZY Rx2e 6,700
el (sHEA 34 ZE
2,000,000& 2,000
AME=E S E=H 4,700,000 4,700
-3 AZH K2 500,000& 500
“EA R R ER FH A2
1,800, 000& 1,800
“EA X8 RA2e 2,000,000 2,000
-deet) |sX2ell 1,500, 000& 1,500
-HlasSs=AlE |2
1,000,000 = 10024 1,000
-HOIE &4 KX 2 2,000,000 2,000
O d320 dF=XNMH & &
22,000,000 = 10024 22,000
OXt& & Bl 3,244
= = 2,605,000 = 1CH * 80% 2,084
“AEI (AT ) 100,000& = 12& = 80% 960
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OXI A EHE M 2 4 =
20,0003 = 9% = 43 720
SHARZAGZFZ (M=) 258,716 249,542 9,174
SMFFE 258,716 249,542 9,174
2oz & ARZAY 101,216 101,042 174
101 14l 11,616 11,442 174
04 JI2ZtHZ22HEE = 11,616 11,442 174
OEZHEH & M=&g 2y 11,616
-= 69,760& = 3% = 50 10,464
“ARIEE D2 RE3 10,464,000& = 11% 1,152
201 L EH2 A | 6,600 6,600 0
02 =24l 6,600 6,600 0
OEXOISEFHEAMAE(D-DAS) FAl22ltl
1,650,0008 * 42 7| 6,600
401 AIEHI L 201 83,000 83,000 0
01 A& HI 65,000 65,000 0
OARRAL NH S =z 8oyl
5,000,000 5,000
OzZ¥ M=&=¢ 10,000, 000& 10,000
O&E=2 & A& |RIE=H 50,000, 000& 50,000
03 Al 2 0HHI 18,000 18,000 0
Oz % st&&Edl Euldxts 10,000,000 10,000
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Oz M= AL &X= 3,000,000 3,000
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01 M= 4l 5,000 5,000 0
OZZx4d Mzl 5,000,000 5,000
401 A& HIZ 201 I 2,500 2,500 0
03 A& S THHI 2,500 2,500 0
OZZXd FHSXZE 2,500,000& 2,500
21 E 04 ol &F 150,000 141,000 9,000
201 Let2d] 20,000 0 20,000
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01 At 22l bl 20,000 0 20,000
OM=20™H MEjstE T 2l 20,000,000& 20,000
401 AIEHIL 20| 130,000 121,000 9,000
01 A& Hl 130,000 121,000 9,000
OR23 22 404 0t HE ALY
55,000,000& 55,000
OXMZBUXE 82 EXAY 50,000, 000& 50,000
OR=2s 2 x4 25,000, 000& 25,000
HMSPEAY (M=2H) 98,396 103,587 AN5,191
HH(M=2H) 98,396 103,587 AN5,191
=&l 98,396 103,587 AN5,191
201 Bt A | 53,456 52,887 569
01 At 22l bl 41,332 40,940 392
Oga g (L=2dl) 14,340,000 14,340
Ogbt=2H| 6,534 ,000& 6,534
O=3&H| 5,530,000 5,530
O&d=xJ| &dx& 40,0008 ~ 104 ~ 128 480
OZ2J/&8X)I| Xz 27,0008 = 104 ~ 12&€ 324
O=SA| Xt 200,000& = 2CH = 12& 4,800
O™ EY AP2E FH| 9,324
-ZelZelH 7,920
EY
440,000 * 20H * 4 * 23] * 90% 6,336
- Ed 440,000& = 2CH = 23] * 90% 1,584
-QlBtZely 200,000® * 3CH = 23] * 90% 1,080
-FAX 120,000 * 1CH = 33 * 90% 324
02 3524t 12,124 11,947 177
O232=2 2 MA(LEI2BE22)
10,340,000& 10,340
O™ EH KRAEE==H| 1,784
~CHII s AFR 1]
1,300,000 = 1900 * 5% * 70% 865
-T2l 4,000,000& * 504 * 2% * 70% 280
=2 AHD| 15,000,000 = 3CH * 2% * 70% 630
-FAX 600,000 = 1CH = 2% * 70% 9
202 04| 34,020 40,500 N6,480
02 N0 H| 34,020 40,500 AN 6,480
OEHAHYI 225,000 * 18" = 128 * 70% 34,020
203 ¥R =&H| 10,920 10,200 720
01 J|22HLR=AH| 6,600 6,600 0
OHE 550,000 = 12& 6,600
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